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General Knowledge / açWýç»S pûçX / açWýçÌ[ýS pûçX
1. Custom duty is levied on ...............

aÝ]ç£’õ ×Eõc÷» CY»Tö %çã»çY Eõ»ç c÷Ì^ ?
aÝ]ç £’õ ×EõãaÌ[ý =Y»Ì[ý %çãÌ[ýçY EõÌ[ýç c÷Ì̂  ?
a) Export b) Import c) Production d) Sale

»Šç×X %ç]Vç×X QöOdYçVX ×[ýyÔÝ
Ì[ýŠç×X %ç]Vç×X =dYçVX ×[ýyÔÌ̂

2. ............. is also known as plastic money.
.................. Eõ YÀç×rôEõ ]ÇVÐç [ýÇ×_C åEõç¾ç c÷Ì̂ *
............... åEõ YÀç×rôEõ ]ÇVÐç Xçã]C LçXç ^çÌ̂ *
a) Cheque b) Draft c) Credit Card d) Money Order

æ$JôEõ QÎöçZËõ$RôO åyÔ×Qö$RôO EõçQïö ]ç×X %Qïöç»
WýXçãV` QÎöçZËõOô åyÔ×QöOô EõçQïö ]ç×X %QïöçÌ[ý

3. The programme “SAVE OUR TIGERS” is initiated by :
“[ýçH ae»lùS Eõ»ç” aLçGTöç Eõç^ïîaÉ$JôÝ åEõçãX %ç»Þö×SEõ×»ä$K÷ ?
“åa\ö %çCÌ̂ çÌ[ý Oôç+GçÌ[ýa” Eõç ï̂îaÉJôÝ åEõçX åEõç¶YçXÝ c÷çãTö ×XãÌ̂ äK÷ ?
a) Airtel b) AIRCEL c) BSNL d) Vodafone

AÌ̂ ç»ä$RôO_ AÌ̂ ç»ä$Jô_ ×[ý, A$K÷ AX, A_ å\öçQöçãZõçX
AÌ̂ çÌ[ýãOô_ AÌ̂ çÌ[ýãa_ ×[ý Aa AX A_ å\öçQöçãZõçX

4. ‘Tatkal scheme’ is available in which of the following :
Tö_Tö QöOä{F Eõ»ç å[ýç»» ]çLTö ‘TödEõç_’ åa¾ç åEõçXä$RôOç ?
‘TödEõç_ åa[ýç’ åEõçUçÌ̂  YçCÌ̂ ç ̂ çÌ̂  :
a) Postal Service b) Indian Railway c) Telephone Service d) Share Marked

QöçEõ åa¾ç \öç»$TöÝÌ^ å»_ æ$RôO×_ãZõçX åa¾ç å Ÿ̀Ì^ç» [ýLç»
QöçEõ åa[ýç \öçÌ[ýTöÝÌ̂  åÌ[ý_CãÌ̂ æ$RôO×_ãZõçX åa[ýç å Ì̀̂ çÌ[ý [ýçLçÌ[ý

5. Tea in India was first discovered in :
\öç»Tö[ýbï» EõTö a[ýï YÒU] $Jôçc÷ %ç×¾›õç» éc÷×$K÷_ ?
\öçÌ[ýTö[ýãbïÌ[ý» åEõçUçÌ̂  a[ýïYÒU] Jôç %ç×[ý•õçÌ[ý c÷Ì̂  ?
a) Assam b) Sikkim c) West Bengal d) Tamilnadu

%a] ×$$K÷×Eõ] Y×¸Jô][ý† Töç×]_ XçQÇö
%çaç] ×a×Eõ] Y×¸Jô][ý† Töç×]_ XçQÇö

AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2010
Class : VIII

Time/a]Ì^ : 2 hours/ H³RôOç Full Marks/ ]ÇPö X=‘ö» / å]çOô X¶‘öÌ[ý f (25+25+25+25)=100
INSTRUCTIONS / ×XãVÛ`ç¾_Ý / ×XãVÛ`ç[ý_Ý
1. Attempt All Questions / YÒãTöîEõä$RôOç YÒ Ầ» QöOwø» Eõ»ç / YÒãTöîEõ×Oô YÒä ẦÌ[ý =wøÌ[ý VçC
2. There are four options to every question. Choose the correct option by putting any one of a, b, c or d, in the box

YÒ×Töä$RôOç YÒ`Â» $Jôç×»$RôOç ×[ýEõ” QöOwø» ×VÌ^ç %çä$K÷* £ˆù QöOwø»ä$RôOç [ýç×$K÷ QöO×_Ì^çc÷O EõçbTö UEõç [ýçEõ$JôTö a, b, c [ýç d ×_×F[ýç*
YÒ×Tö×Oô YÒä ẦÌ[ý JôçÌ[ý×Oô ×[ýEõ” =wøÌ[ý åVCÌ̂ ç %çäK÷* a×PöEõ =wøÌ[ý×Oô å[ýäK÷ Yçã »̀ UçEõç [ýçåj a, b, c A[ýe d ×_F*
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6. Which of the following is not a Public Sector Bank :
Tö_» åEõçXä$RôOç »çrÑôÝÌ^EÊõTö å[ýeEõ Xc÷Ì^ ?
XÝäJôÌ[ý åEõçX×Oô Ì[ýçrÑôÝÌ̂ EÊõTö å[ýeEõ XÌ̂  ?

a) Allahabad Bank b) Axis Bank c) Dena Bank c) Vijaya Bank
A_çc÷ç[ýçV å[ýeEõ A×j$Jô å[ýeEõ åVXç å[ýeEõ ×[ýLÌ̂ ç å[ýeEõ
A_çc÷ç[ýçV å[ýeEõ A×ja å[ýeEõ åVXç å[ýeEõ ×[ýLÌ̂ ç å[ýeEõ

7. Priynka Chopra was given the Best Actress Award in the 56th National film awards for her role in :
×YÒÌ^eEõç æ$JôçYÒçEõ åEõçXFX $K÷×[ýTö %×\öXÌ^» [ýçã[ý 56 Tö] »çrÑôÝÌ^ ×Zõ_½ [ýg$RôOç YÒVçX Eõ»ç éc÷×$K÷_ ?
56 Tö] Ì[ýçrÑôÝÌ̂  YÇÌ[ý•õçÌ[ý a]çãÌ[ýçåc÷ ×YÒÌ̂ eEõç æJôçYQÍöçãEõ åEõçX K÷çÌ̂ çK÷×[ýÌ[ý LXî æ Ò̀œö %×\öãXyÝÌ[ý YÇÌ[ý•õçÌ[ý åVCÌ̂ ç c÷Ì̂  ?

a) Kaminey b) Dostana c) Fashion c) Pyar Impossible
Eõ×]ãX åVçØ™öçXç åZõ`ŸX Yîç» c÷O+×$Jô[ý_
Eõ×]ãX åVçØ™öçXç åZõ Ÿ̀X YîçÌ[ý +¶Y×a[ý_

8. “We serve you better because we understand you better” - is the ad line of the television channel :
‘‘%ç×] %çãYçXçã_çEõEõ \öç_êEõ åa¾ç Eõã»ç Eõç»S %ç×] %çãYçXçå_çEõEõ \öç_êEõ LçãXç’’ åEõçX æ$K÷ãX_» ?
‘‘%ç×] %çYXçãVÌ[ý \öç_\öçã[ý åa[ýç Eõ×Ì[ý EõçÌ[ýS %ç×] %çYXçãVÌ[ý \öç_\öçã[ý Lç×X’’ --- åEõçX JôîçãXã_Ì[ý ?

a) Doordarshan b) NDTV 24x7 c) National Geographic Channel d)  Zee TV
VÉ»V`ïX AX×Qö×$RôO×\ö 24x7 åX Ÿ̀’ãX_ ×L%’GÐç×ZõEõ æ$K÷ãX_     ×L ×$RôO×\ö
VÉÌ[ýV ï̀X AX×Qö×Oô×\ö 24x7 Xîç`ãX_ ×LCGÐç×ZõEõ JôîçãX_     ×L ×Oô×\ö

9. ‘PAN’ number is related with :
PAN Xe ×Eõc÷» _GTö L×QÍöTö ?
PAN  X¶‘öÌ[ý ×EõãaÌ[ý açãU L×QÍöTö ?

a) Mobile phone b) Income Tax c) Railway Reservation d) telephone Code
å]ç[ýçc÷O_ åZõçX %çÌ̂ Eõ» å»_Cã¾ %çaX ae»lùS æ$RôO×_ãZõçX åEõçQö
å]ç[ýç+_ åZõçX %çÌ̂ EõÌ[ý åÌ[ý_CãÌ̂  %ça] aeÌ[ýlùS åOô×_ãZõçX åEõçQö

10. Economic planning in India is mainly fixed for :
\öç»TöTö %UïêX×TöEõ Y×»Eõ”Xç ×Eõ]çX [ý$K÷»» [ýçã[ý Eõ»ç c÷Ì^ ?
EõTöö [ýK÷ãÌ[ýÌ[ý LXî \öçÌ[ýãTöÌ[ý %UïêX×TöEõ Y×Ì[ýEõ”Xç EõÌ[ýç c÷Ì̂

a) 10yrs b) 7 yrs c) 5 yrs d) 3 yrs

11. The city-state in ancient world :
YÒç$JôÝX ×[ý Ÿ̀» XG» »çLî %ç×$K÷_  :
YÒçJôÝX ×[ýã Ÿ̀ ×XäJôÌ[ý åEõçX×Oô XGÌ[ý Ì[ýçLî ×K÷_ :

a) Egypt b) Burma c) Athens d) Sumeria
c÷O×LŠ [ýç]ïç AãU³a $JÇôã]»ÝÌ̂ ç
+×L´Oô [ýç]ïç AãU³a aÇã]»Ì[ýÝÌ̂ ç
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12. The state in India has the smallest population :
\öç»Tö» åEõçXFX »çLî» LXaeFîç %ç$RôOçc÷OTöêEõ Eõ] ?
\öçÌ[ýãTöÌ[ý åEõçX Ì[ýçåLîÌ[ý LXaeFîç a[ýJôç+ãTö Eõ] ?

a) Sikkim b) Goa c) Meghalaya d) Mizuram
×$K÷×Eõ] åGç¾ç å]Hç_Ì̂ ×]ãLç»ç]
×a×Eõ] åGçÌ̂ ç å]Hç_Ì̂ ×]ãLçÌ[ýç]

13. Find out the correct order of the following civilian Awards ?
Tö_Tö ×VÌ^ç %aç]×»Eõ åa¾ç [ýg$RôOç a]Éc÷» a×PöEõ yÔ] [ýç×$Jô QöO×_C¾ç :
XÝäJô åVCÌ̂ ç %aç]×Ì[ýEõ YÇÌ[ý•õçÌ[ý mã_çÌ[ý a×PöEõ yÔ] [ýç×c÷Ì[ý EõÌ[ý :

a) Padmashree, Padmabhushan, Padmabibhushan, Bharat Ratna
Y²¿ Ò̀Ý, Y²¿\ÉöbS, Y²¿ ×[ý\ÉöbS, \öç»Tö »±óö
Y²¿ Ò̀Ý, Y²¿\ÉöbS, Y²¿ ×[ý\ÉöbS, \öçÌ[ýTö Ì[ý±óö

b) Padmabhushan, Padmashree, Bharat Ratna, Padmabibhushan
Y²¿\ÉöbS, Y²¿ Ò̀Ý, \öç»Tö »±óö, Y²¿ ×[ý\ÉöbS
Y²¿\ÉöbS, Y²¿ Ò̀Ý, \öçÌ[ýTö Ì[ý±óö, Y²¿ ×[ý\ÉöbS

c) Padmabhushan, Padmabibhushan, Padmashree, Bharat Ratna,
Y²¿\ÉöbS, Y²¿ ×[ý\ÉöbS, Y²¿ Ò̀Ý, \öç»Tö »±óö
Y²¿\ÉöbS, Y²¿ ×[ý\ÉöbS, Y²¿ Ò̀Ý, \öçÌ[ýTö Ì[ý±óö

d) None the the them
A$RôOçC Xc÷Ì̂
AEõ×OôC XÌ̂ *

14. Late Ustad Bismillah Khan was famous for :
CØ™öçV ×[ý$K÷×]{çc÷Fgç ×Eõc÷» [ýçã[ý ×[ýFîçTö %ç×$K÷_ ?
=Ø™öçV ×[ýa×]{ç FçX ×EõãaÌ[ý LXî ×[ýFîçTö ×K÷ã_X ?
a) Sitar b) Flute c) Sarod d) Shehnai

æ$JôTöç» [ýçVEõ [ýgçc÷Ý[ýçVEõ aã»çV[ýçVEõ å`c÷Xçc÷O [ýçVEõ
×aTöçÌ[ý [ýçVEõ [ýgç`Ý[ýçVEõ aåÌ[ýçV[ýçVEõ å`c÷Xç+ [ýçVEõ

15. Population census in India is conducted every after :
×Eõ]çX [ý$K÷»» ]Éã» ]Éã» \öç»Tö» å_çEõ×YÌ^_ Eõ»ç c÷Ì^*
\öçÌ[ýãTöÌ[ý LX GXXç YÒãTöîEõ ............... YÌ[ý Eõ»Ì[ýç c÷Ì̂ *
a) 5 Yrs b) 7 Yrs c) 10 Yrs d) 15 Yrs

16. The total numbers of seat in Rajya Sabha from Assam :
%a]» Y»ç »çLî a\öçê_ ]ÇPö %çaX aeFîç ×Eõ]çX ?
Ì[ýçLîa\öçÌ̂  EõTö×Oô %çaX %çaçã]Ì[ý LXî ?
a) 2 b) 7 c) 12 d) 14
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17. Dilip Tirkey of India is associated with :
×V×_Y ×TöEõÝÛ ×Eõc÷» _GTö L×QÍöTö ?
×V×_Y ×TöEõÝÛ åEõçX åF_çÌ[ý açãU L×QÍöTö

a) Football b) Cricket c) Hockey d) Kabadi
ZÇõ$RôO[ý_ ×yÔãEõ$RôO c÷×Eõ Eõç[ýçVÝ
ZÇõ$RôO[ý_ ×yÔãEõ$RôO c÷×Eõ Eõ[ýç×Qö

18. If A is B’s daughter, and B is C’s mother, D is C’s brother, how is D related to A ?
^×V A-B » LÝãÌ̂ Eõ %ç»Ó B-C» ]çEõ %ç»Ó D-C» \öçc÷O, åTöãÜ™ö D %ç»Ó A a+Eïõ ×Eõ ?
^×V A c÷Ì̂  B AÌ[ý å]ãÌ̂ , B c÷Ì̂  C AÌ[ý ]ç, D c÷Ì̂  C AÌ[ý  \öç+, Töçc÷ã_ D, A AÌ[ý ×Eõ c÷ã[ý ?

a) Father b) Grand Father c) Brother d) Brother & Sister
×YTöç EõEõç-ãV=Töç \öç+ \öç+-\öXÝ
×YTöç PöçEÇõÌ[ý VçVç \öç+ ã[ýçX

19. What is the minimum qualification and age to appear in the IAS examination ?
XÉXîTö] ×Eõ]çX ×`lùçGTö %c÷ÛTöç %ç»Ó [ýÌ^aTö IAS Y»ÝlùçTö %¾TöÝXï c÷’[ý Yç×» ?
IAS YÌ[ýÝlùçUÝÛÌ[ý LXî XÉXîTö] ×`lùçGTö å^çGîTöç A[ýe [ýÌ̂ a c÷_ :

a) Post Degree and 25 years b) Degree and 21 years
ØoöçTöãEõçwø» %ç»Ó 25 [ý$K÷» ØoöçTöEõ %ç»Ó 21 [ý$K÷»
ØoöçTöãEõçwøÌ[ý A[ýe 25 [ýK÷Ì[ý ØoöçTöEõ A[ýe 21 [ýK÷Ì[ý

c) Degree and 22 years d) Post Degree and 21 years
ØoöçTöEõ %ç»Ó 22 [ý$K÷» ØoöçTöãEõçwø» %ç»Ó 21 [ý$K÷»
ØoöçTöEõ A[ýe 22 [ýK÷Ì[ý ØoöçTöãEõçwøÌ[ý A[ýe 21 [ýK÷Ì[ý

20. If the 2012 Olympic Games are held in London, in 2016 it will be in :
2012 $JôXTö %×_×+Eõ åG]$Jô _‰øXTö %XÇ×œöTö c÷’[ý* 2016 $JôXTö Eõ’Tö c÷’[ý ?
2012 aãXÌ[ý %×_×¶YEõ ^×V _‰øãX c÷Ì̂ , Töã[ý 2016 åTö åEõçUçÌ̂  c÷ã[ý ?

a) Barcelona b) Rio de Janeiro c) Mexico City d) Los Angeles
$[ýç×$JôÛã_çXç ×»’% ×Qö åLãX×»C å]×jãEõç ×$K÷×$RôO _L Aãt_$JËô
[ýç»×aïã_çXç ×Ì[ýC ×Qö åLãX×Ì[ýC å]×jãEõç ×a×Oô _a Aã³L_a

21. By Great Circle, we mean :
[ýÊc÷d [ýÊwø [ýÇ×_ã_ %ç×] ×Eõ [ýÇãLç ?
m»Ì[ý»Ó[ýÊwø [ý×_ã_ %ç]Ì[ýç ×Eõ [ýÇ×Mõ ?

a) Prime Meridian b) Equator c) Tropic of Cancer d) Tropic of Capricorn
]ÇFî VÐç×H]ç å»Fç ×[ýbÇ¾ å»Fç EõEïõ$RôO yÔç×Ü™ö ]Eõ» yÔç×Ü™ö
]ÇFî VÐç×H]ç åÌ[ýFç ×[ýbÇ[ý åÌ[ýFç EõEïõOô yÔç×Ü™ö ]EõÌ[ý yÔç×Ü™ö
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22. ‘Bluetooth’ technology allows :
[ýÀÇÅ$RÇôOU YÒ^Ç×NþåÌ^  ................ aÞö¾ Eõã»*
[ýÀÇOôÇU YÒ̂ Ç×Nþ ¥çÌ[ýç aÞö[ý c÷Ì̂  :

a) Wireless communication between equipments b) Signal transmission on mobile phone only
a»tç]» ]çLTö %XgçTöç» aeã^çG å]ç[ýçc÷O_ åZõçX» aeãEõTö æYÒ»S
aÌ[ýtçã]Ì[ý ]ãWýî TöçÌ[ý×[ýc÷ÝX aeã^çG å]ç[ýç+_ åZõçãXÌ[ý aeãEõTö æYÒÌ[ýS

c) Landine to mobile phone communication d) Satellite television communication
å_‰ø_çc÷OX %ç»Ó å]ç[ýçc÷O_» ]çLTö aeã^çG QöOYGÐc÷ æ$RôO×_×\ö$JôX aeã^çG
å_³Qö_ç+X A[ýe å]ç[ýç+ã_Ì[ý ]ãWýî aeã^çG ØšöçYX QöOYGÐc÷ æ$RôO×_×\ö$`X aeã^çG

23. During the partition of Bengal in 1905, the Governor General was :
[ý† ×[ý\öçLX (1905) » a]Ì̂ Tö G\öSï» åLãXã»_ åEõçX %ç×$K÷_ ?
[ý† ×[ý\öçLãXÌ[ý a]Ì̂  1905 A \öçÌ[ýãTöÌ[ý G\öXïÌ[ý åLXçã»Ì[ý_ »×K÷ã_X :

a) Lord Ripon b) Lord Curzon c) Lord Dalhousie d) None of the these.
_Qïö ×»YX _Qïö EõçLÛX _Qïö åQö_c÷çQöO$JôÝ åEõçãXç Xc÷Ì^
_Qïö ×Ì[ýYX _Qïö EõçLÛX _Qïö Qöç_c÷ç=aÝ åEõc÷+ XX

24. The system of economy India has :
\öç»TöTö ×Eõ %UïXÝ×Tö YÒ$Jô×_Tö ?
\öçÌ[ýãTö åEõçX %UïêX×TöEõ Yˆù×Tö YÒJô×_Tö ?

a) Capitalist Economy b) Socialist Economy c) Mixed Economy d) None of the these.
YgÇ×L[ýçVÝ %UïXÝ×Tö a]çLTöç×Ü—öEõ %UïXÝ×Tö ×] Ò̀ %UïXÝ×Tö A$RôOçC Xc÷Ì̂
YgÇ×L[ýçVÝ %UïXÝ×Tö a]çLTöç×Ü—öEõ %UïXÝ×Tö ×] Ò̀ %UïXÝ×Tö AEõ$RôOçC XÌ̂

25. The famous detective character ‘Feluda’ is created by :
×[ýFîçTö åGçãÌ^³Vç $Jô×»y åZõ_ÇVç» Øƒörôç åEõçX ?
×[ýFîçTö åGçãÌ̂ ³Vç Jô×Ì[ýy ‘åZõ_ÇVçÌ[ý’ Øƒörôç åEõ ?

a) Khuswant Singh b) Satyajit Ray c) Agatha Christie d) Vikram
FÇ̀ Ÿ¾Ü™ö ×ae aTöî×LTö »Ì̂ %çGçUç ×yÔrôÝ ×[ýyÔ]
FÇ̀ Ÿ[ýÜ™ö ×ae aTöî×LTö Ì[ýçÌ̂ %çGçUç ×yÔrôÝ ×[ýyÔ]

General English

26 To be honest, I have never ....... in a balloon.
a) flowed b) flown c) flying d) flew

27. What exercise do you like doing ....... of all?
a) most b) best c) the best d) before

(5)



28. Are you aware of the latest ....... in children’s clothing?
a) Tendency b) trend c)  custom d)  habit

29 He used to work in the city .......
a) had he? b) does he? c) has he? d) didn’t he?

30. What would you like to eat for lunch? ........ I don’t mind.
a) Nothing b)  Something c)  Everything d)  Anything

31. My boss told me to keep ____ the good work I had been doing for the last two years.
a) Away b) In c) No preposition d) Up

32. He refused to go until he ....... seen all the paintings.
a) had b) was c) is d) has

33. It’s easy to see from the way the garden is looking that winter has ........
a) Set out b) Set in c) Set up d) Set off

34. A burglar ....... when I was away on vacation and stole of my electronic goods.
a) Broke into b)  Broke off c) Broke open d) Broke up

35 I worked out the answer in the end by putting two and two ........
a) Aside b) Apart c) Together d) Through

36. After the terrible tsunami our oderly lives became ........
a) Chaotic b)  Erotic c)  Exotic d) Robotic

37 She likes to take the opposite point of view and play the devil’s ........
a) Lawyer b)  Advocate c)  Support d)  Attitude

38. After the first revolution the dictator no longer had much control and became just a paper ........
a) Lion b)  Tiger c)  Elephant d)  Cat

39. I  …………….  The bus coming now.
a) Have seen b) Had seen c) Am seeing d) Can see

40. Some of the luggage   …………  not yet arrived.
a) Has b) Have c) Is d) Are.

41. Animals living in groups or herds are :
a) Social b) Posthumous c) Ridiculous d) Gregarious

(6)



Select from the choices given below each sentence the word that is nearest in meaning  to the word given in
italics.

42. My watch is quite inexpensive.
a) Good b) Old c) Cheap d) Popular

43. He made a candid confession of his involvement in the plot.
a) Dishonest b) Forceful c) Sweet d) Frank

Select from the choices given below each sentence the word that is opposite in meaning  to the word given
in  italics. ( Q. 61  to  65)

44. My friend has a fascination for antique things.
a) Strange b) Funny c) Ancient d) Modern

45. We became jubilant when our team scored the winning goal.
a) Despondent b) Indifferent c) Indolent d) quite

In the following group of four words one word is mis-spelt. Find out the mis-spelt word.

46. a) receive b) seive c) conceive d) believe

47. a) truely b) sincerely c) gratefully d) ideally.

Mark the right choice on the basis of the relationship shown in the first part of the question :

48. Gold  :  Ornament
a) silver : metal
b) clay :  brick
c) copper :  brass
d) dance : rhythm

49. Road  :  Footpath
a) park : trees
b) shoe : lace
c) market : shop
d) Sari : border

50. Poverty   :  Prosperity
a) Intelligence : stupidity
b) Rain : flood
c) Train : cart
d) Love : sorrow
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General Mathematics / açWýç»S G×STö / açWýçÌ[ýS G×STö
51. If  then  = , then  a

 b
 =..........

^×V  = åTöãÜ™ö =  a
 b

 .....................

^×V  =  Töçc÷ã_ =  a
 b

 .....................

a) 0.0025              b)    0.025           c)     0.25           d)   None of these A$RôOçC Xc÷Ì̂  / åEõçX$RôOçc÷O XÌ̂

52. Factorise 

  
 27
x

 +   y
125

 +  x y
 15

 +  xy
 25

  
 27
x  +   y

125
 +  x y

 15
 +  xy

 25
 Eõ QöOdYçVEõ ×[ýä À̀bS Eõ»ç :

  
 27
x  +   y

125
 +  x y

 15
 +  xy

 25
 AÌ[ý QöOdYçVEõ ×[ýä`ÀbS EõÌ[ý :

a) (x
3

 + 

 y
 5

)3 b) (3x + 5y)3  c) (5x + 3y)3 d) ( 

 x
 5

 + 

7
3

)3

53. A dealer buys an article for Rs. 380. At what price must he marks it so that after allowing a discount of 5%,
he still makes a profit  of 25% ?
ALX ×[ýãyÔTöçc÷O A$RôOç [ýØ™Çö 380 $RôOEõçTö ×Eõ×Xã_* åTöCg [ýØ™Çöä$RôOç» ×[ýyÔÝ ]É_î ×Eõ]çX ×U»çe Eõ×»ã_ 5% [ýçvôç ×VÌ^ç» Yç$K÷TöC åTöCg» 25% _ç\ö c÷[ý ?
AEõLX ×[ýãyÔTöç AEõ×Oô aç]GÐÝ 380 OôçEõçÌ̂  yÔÌ̂  Eõ×Ì[ýã_X* ×[ýyÔÌ̂  ]É_î EõTö c÷+ã_ 5% K÷çQÍö åVCÌ̂ çÌ[ý YÌ[ý =×X 25% _ç\ö Eõ×Ì[ýãTö Yç×Ì[ýã[ýX ?

a) 500 b) 750 c) 900 d) 494

54. The length of a chord of a circle of radius 17 cm and at a distance of 8 cm from the center is ............... cm
17 æ$K÷.×]. [ýîçaçWýï» A$RôOç [ýÊwø» åEõ³VÐ» Y»ç 8 æ$K÷.×]. VÉ»Tö UEõç AQöç_ Lîç» ]çY ................. æ$K÷.×].*
17 åaf×]f [ýîçaçãWýïÌ[ý AEõ×Oô [ýÊãwøÌ[ý åEõä³VÐÌ[ åUãEõ 8 åaf×]f VÉãÌ[ý UçEõç AEõ×Oô LîçÌ[ý ]çX ............ åa.×].*

a) 15 b) 30 c) 28 d) 34

55. An accurate clock shows the time as 3:00 after the hour hand has moved by 1350, the time would be ..............
A$RôOç HQÍöÝ» a×PöEõ a]Ì̂  éc÷ä$K÷ 3:00 * H³RôOç» Eõç$RôOçQöç_ 1350 %çm¾çc÷O Gã_ a]Ì̂  c÷’[ý ...................
AEõ×Oô H×QÍöÌ[  a×PöEõ a]Ì̂  c÷_ 3:00*H³OçÌ[ý EõçOôç×Oô 1350 A×GãÌ̂  åGã_ H×QÍöãTö a]Ì̂  c÷ã[ý .................

a) 9:30 b) 8:00 c) 7:30 d) 6:30

56. The perimeter of the figure given below is ............. M.
Tö_Tö ×VÌ^ç ×$Jôyä$RôOç» Y×»aÝ]ç ..................... ×].
XÝäJ  åVCÌ̂ ç ×Jôy×OôÌ[ý Y×Ì[ýaÝ]ç ......................... ×].

a) 44              b)     58     c)    142             d)   None of these A$RôOçC Xc÷Ì̂  / åEõçX$RôOçc÷O XÌ̂
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57. What must be subtracted from  x y  to make it 

 y
 x

 ?

 x
 y

 » Y»ç ×Eõ ×[ýãÌ^çG Eõ×»ã_ 

 y
 x

 c÷’[ý ?

 x
 y

 ÌåUãEõ ×Eõ ×[ýãÌ̂ çG Eõ×Ì[ýã_ 

 y
 x

 c÷ã[ý ?

a)

 x - y
   xy

2 2

b)

 x - y
  x y2 2

c)

   xy
 x + y

d)

   x y
 x + y

22

2 2

58. ( 

   x
 x  + y

-1

-1 -1

 + 

   x
 x  + y

-1

-1 -1

) = ...............

a) b)

   y
x  - y

2

2 2

c)

   2x
 y  - x

2

2 2

d)

  2y
y  - x

2

2 2

59. The length of a minute hand of a clock is 5 cm. What area will it cover in 15 minutes ?
A$RôOç HQÍöÝ» ×]×X$RôO» Eõç$RôOç» éVHïî 5 æ$K÷.×]. c÷ã_ Eõç$RôOçQöçã_ 15 ×]×X$RôOTö ×Eõ]çX ålùyZõ_ %ç¾×» _’[ý ?
H×QÍöÌ[ý ×]×XãOôÌ[ý EgõçOôçÌ[ý éVHïî 5 åaf×]f c÷+ã_ 15 ×]×XãOô EõTöOôÇEÇõ ålùyZõ_ %Ü™ö\ÉöÛNþ EõãÌ[ý ?

a)

25
4

 cm2 (æ$K÷.×].2) b) 25
4

2

 cm2 (æ$K÷.×].2)

c)

25
16

 cm2 (æ$K÷.×].2) d) 4  cm2 (æ$K÷.×].2)

60. If a2 + b2 + c2 = ab + bc + ca, then the value of a3 + b3 + c3 is ......................
^×V a2 + b2 + c2 = ab + bc + ca, c÷ã_ a3 + b3 + c3 » ]çX ...............
^×V a2 + b2 + c2 = ab + bc + ca, Töã[ý a3 + b3 + c3 AÌ[ý ]çX ...............

a) 3abc b) 3(abc)3 c) 3a2b2c2 d) a+b+c

61. The average of x1, x2 and x3 is 14. Twice the sum of x2 and x3 is 30. What is the value of x1 ?
x1, x2 %ç»Ó x3 » GQÍö 14 ^×V x2 %ç»Ó x3 » å^çGZõ_» VÇmS 30 c÷Ì^ åTöãÜ™ö x1 » ]çX ×Eõ ?
x1, x2 A[ýe x3 AÌ[ý GQÍö 14 ^×V  x2 A[ýe x3 AÌ[ý å^çGZõã_Ì[ VÇmX 30 c÷Ì̂ , Töã[ý x1 AÌ[ý ]çX EõTö ?

a) 20 b) 27 c) 16 d) 12

62. If L II M, then measure of ∠x and ∠y are .............. and ..............
^×V L II M c÷Ì̂  åTöãÜ™ö ∠x %ç»Ó ∠y » ]çY ....................., .........................
^×V L II M c÷Ì̂ , Töã[ý  ∠x A[ýe ∠y AÌ[ý ]çY ......................., .......................

A’ X

Y

L

MBC
600

40
0

a) 1400, 800 b) 1000, 800 c) 400, 1000 d) 1400, 600
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63. (0.001725)B = ...............

a) 0.12                   b)    12               c)    1.2  d)   None of these A$RôOçC Xc÷Ì̂  / åEõçX$RôOçc÷O XÌ̂

64. Which of the following statement is correct ?
Tö_» åEõçXä$RôOç QöO×Nþ aTöî ?
XÝäJôÌ[ý åEõçX a]ÝEõÌ[ýX aTöî ?

a)  +  = b)  =  - 

c) 2 2 = ab d) All of these (%ç$RôOçc÷OãEõ$RôOç) a[ýEõÌ̂ Oôç

65. Which of the following polynomials is in the standard form ?
Tö_» åEõçXä$RôOç [ý§YV »ç×` YÒç]ç×SEõ »ÖYTö %çä$K÷*
XÝäJôÌ[ý åEõçX [ý§YV Ì[ýç×` YÒç]ç×XEõ Ì[ý»»ÖãY %çäK÷*

a) x3 - 2x4 + x - 1 b) x8 - x5 + 1
c) -ax3 - 2bx2 + cx2 d) 7x-2 + x-1 + 3

66. Find the compound interset on Rs. 125000 at 24% per annum for 32 months, compounded monthly.
125000 $RôOEõç» 24% c÷çã» 3 ]çc÷» $JôyÔ[ýÊ×ˆù aÇTö ×Eõ]çX c÷’[ý, ^×V aÇTö ]ç×c÷×_ GXXç Eõ»ç c÷Ì^ ?
125000 OôçEõçÌ[ý 24%  c÷çãÌ[ý 3 ]çãaÌ[ý JôyÔ[ýÊ×ˆù aÇVö EõTö c÷+ã[ý, ^×V aÇV YÒãTöîEõ]çãa GXXç EõÌ[ýç c÷Ì̂  ?

a) 5611              b)  5600               c)   7651 d) None of these A$RôOçC Xc÷Ì̂  / åEõçX$RôOçc÷O XÌ̂

67. What is the value of the expression given below, when x = 12 and y = -12
(Tö_Tö ×VÌ^ç QöOwø» ]çX ×Eõ]çX c÷’[ý, å^×TöÌ^ç x = 12 %ç»Ó y = -12 c÷[ý)
^×V x = 12 A[ýe y = -12, Töçc÷ã_  AÌ[ý ]çX EõTö c÷+ã[ý ?

(x-y) (x+y)

a) 288 b) 144 c) 12 d) 0

68. H.C.F of 20x2 - 9x + 1 and 5x2 - 6x + 1 is :
20x2 - 9x + 1 %ç»Ó 5x2 - 6x + 1 » _.aç.m. :
20x2 - 9x + 1 A[ýe 5x2 - 6x + 1 AÌ[ý _façfm

a) 5x + 1 b) 5x - 1 c) 5x + 2 d) 5x - 2

69.

41 -  21 +  19 -   9

 = ...............

a) 6.4 b) 6 c) 5 d) 3
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70. How many times does the 29th day of the months occur in 400 consecutive years ?
400 [ý$K÷»Tö ×Eõ]çX ]çc÷Tö 29 Töç×»Fä$RôOç %çä$K÷ ?
400 [ýK÷ãÌ[ý EõTö[ýçÌ[  ]çãaÌ[ý 29 Töç×Ì[ýF YçCÌ̂ ç ^çÌ̂

a) 4997 times ([ýç») b) 4495 times ([ýç») c) 4500 times ([ýç») d) 4497 times ([ýç»)

71. Which of the following is a rational number ?
Tö_» åEõçXä$RôOç A$RôOç Y×»ã]Ì̂  aeFîç ?
XÝäJôÌ[ý åEõçX×Oô AEõ×Oô Y×Ì[ýã]Ì̂  aeFîç ?

a) 11         b)   π c) 2.1387569 d) None of these A$RôOçC Xc÷Ì̂  / åEõçX$RôOçc÷O XÌ̂

72. The remainder obtained, when t6 + 3t2 + 10 is divided by t3 + 1 is ...........
t6 + 3t2 + 10 Eõ t3 + 1 is å» ×[ý\öçLî Eõ×»ã_ \öçGã`b Uç×Eõ[ý ..........
t6 + 3t2 + 10 Eõ t3 + 1 ¥çÌ[ýç \öçG Eõ×Ì[ýã_ \öçGã`b Uç×Eõã[ý ..............

a) t2 - 11 b) 3t2 + 11 c) t3 - 1 d) 1 - t3

73. A bus runs at 45 km/hr. How far does it go in 6 sec. ?
AFX [ýç$K÷ 45 ×Eõ.×]./H å[ýãGã» G×Tö Eõ×»ã_ 6 æ$K÷ãEõ‰øTö ×Eõ]çX VÉ» %×TöyÔ] Eõ×»[ý ?
AEõ×Oô [ýça YÒ×Tö H³OôçÌ̂  45 ×Eõf×]f %×TöyÔ] Eõ×Ì[ýã_ 6 æa÷ãEõã³Qö EõTöVÉÌ[ý %×TöyÔ] Eõ×Ì[ýãTö YçÌ[ýã[ý ?

a) 50 m (×].) b) 75 m (×].) c) 65 m (×].) d) 60 m (×].)

74. One-sixth of the first number, one fifth of the second numbers, one fourth of the third, one third of the fourth and half
of the fifth number are same. The five numbers are :
YÒU] aeFîç» AEõ bœöçe`, ×¥TöÝÌ̂  aeFîç» AEõ Y‡û]çe`, TÊöTöÝÌ̂  aeFîç» AEõ $JôTÇöUïçe`, $JôTÇöUï aeFîç» AEõ TÊöTöÝÌ̂ çe` %ç»Ó Y‡û] aeFîç» %Wýïçe`
a]çX c÷ã_ aeFîç Ygç$Jô$RôOç c÷[ý :
YÒU] aeFîçÌ[ý AEõ bœöçe`, ×¥TöÝÌ̂  aeFîçÌ[ý AEõ Y‡û]çe`, TÊöTöÝÌ̂  aeFîç Ì[ý AEõ $JôTÇöUïçe`, $JôTÇöUï aeFîçÌ[ý AEõ TÊöTöÝÌ̂ çe` A[ýe Y‡û] aeFîçÌ[ý %Wýïçe`
a]çX c÷c÷Oã_ aeFîç Ygç$Jô$RôOç c÷c÷Oã[ý :

a) 35, 31, 20, 22, 12 b) 32, 34, 23, 19, 12

c) 36, 30, 24, 18, 12 d) None of these A$RôOçC Xc÷Ì̂  / åEõçX$RôOçc÷O XÌ̂

75. If (x4 + 1
x4 ) = 47, then the value of x3 + 

1
x3

 = ...............

^×V (x4 + 

1
x4

) = 47 , c÷Ì^ åTöãÜ™ö (x3 + 

1
x3

)  » ]çX = ..................

^×V (x4 + 

1
x4

) = 47 , c÷Ì^ Töçc÷ã_ (x3 + 

1
x3

)  AÌ[ý ]çX = ..................

a) 18 b) 27 c) 49 d) 64
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General Science / açWýç»S ×[ýpûçX / açWýçÌ[ýS ×[ýpûçX

76. When a beam of light enters from one medium to other, the quantity that never changes is ....
å^×TöÌ^ç åYçc÷»» »×`½ A$RôOç ]çWýî]» Y»ç %Xî A$RôOç ]çWýî]Tö YÒã¾` Eõã» åTö×TöÌ^ç åEõçXä$RôOç »ç×`» åEõ×TöÌ^çC Y×»[ýTöÛX Xc÷Ì^ ?
^FX %çã_çÌ[ý Ì[ý×`½ AEõ ]çWýî] c÷+ãTö %Xî ]çWýîã] YÒã[ý` EõãÌ[ý, TöFX XÝäJôÌ[ý åEõçX×OôÌ[ý EõFXC Y×Ì[ý[ýTöÛX c÷Ì̂  Xç*
a) its direction b) velocity c) frequency d) wave length

c÷OÌ̂ ç» ×V` å[ýG Eõ+XçeEõ Tö»eG éVHïî
+c÷çÌ[ý ×VEõ å[ýG Eõ¶YXçEõ TöÌ[ýeG éVHïî

77. Which of the following has the highest refractive index ?
Tö_» åEõçXä$RôOç» YÒ×Töa»SçeEõ %ç$RôOçc÷OTöêEõ å[ý×$K÷ ?
XÝäJôÌ[ý åEõçX×OôÌ[ý YÒ×Töa»Ì[ýSçáø a[ýJôç+ãTö å[ý`Ý ?
a) glass b) water c) benzene d) diamond

Egõç$Jô YçXÝ å[ýX×LX c÷Ý»ç
Egõç$Jô L_ å[ýX×LX c÷ÝÌ[ýç

78. The metal which combines with oxygen and forms a protective layer on itself is ....
Tö_» åEõçXä$RôOç WýçTÇöã¾ %×jãLX» _GTö ^ÇNþ éc÷ ×XL» [ýçã[ý A×$RôO YÒ×Töã»çWýEõ Ø™ö» GPöS Eõã» ?
XÝäJôÌ[ý åEõçX WýçTÇö %×jãLãXÌ[ý açãU ̂ ÇNþ c÷+Ì̂ ç ×XãLÌ[ý LXî AEõ×Oô YÒ×TöãÌ[ýçWýEõ GPöX EõãÌ[ý ?
a) Az b) Al c) Au d) Rt

79. Carbon becomes available to crop plants in the form of........
`aî LçTöÝÌ^ QöO×àöV» [ýçã[ý Eõç[ýïX Töç» åEõçXä$$RôOç »ÖYTö ac÷L _\öî :
`aî LçTöÝÌ̂  =×àöãVÌ[ý LXî Eõç[ýïX TöçÌ[ý åEõçX Ì[ý»ÖãY ac÷ãL _\öî :
a) carbonates b) disaccharides c) carbondioxide d) bi carbonates

Eõç[ýïãX$RôO$K÷ Qöçc÷Oä$K÷ãEõ»çc÷OQö$K÷ Eõç[ýïX Qöçc÷O %jçc÷OQö [ýçc÷O Eõç[ýïãX$RôO$K÷
Eõç[ýïãXOôK÷ Qöç+äK÷ãEõÌ[ýç+QöK÷ Eõç[ýïX Qöç+ %jç+Qö [ýç+ Eõç[ýïãXOôK÷

80. All real images :
aEõã_ç [ýçØ™ö¾ YÒ×Tö×[ý=‘ö :
aEõ_ [ýçØ™ö[ý YÒ×Tö×[ý=‘ö :
a) are errect b) are inverted

×UÌ^ Cã_ç$RôOç
FçQÍöç QöO_$RôOç

c) can appear on a screen d) can not appear on a screen
YVÛçTö VỀ î]çX c÷Ì̂ YVÛçTö VỀ î]çX Xc÷Ì̂
YVÛçÌ̂  VỀ î]çX c÷Ì̂ YVÛçÌ̂  VỀ î]çX c÷Ì̂ Xç

81. The formation of gas bubbles during a reaction is .....
×[ý×yÔÌ^ç» a]Ì̂ Tö åc÷ç¾ç åG$K÷» [ýÇ»[ýÇ»×S c÷’_ :
×[ý×yÔÌ̂ çÌ[ý a]ãÌ̂  c÷CÌ̂ ç GîçãaÌ[ý [ýÇV[ýÇV c÷_ :
a) effervescence b) evaporation c) both a and b d) none of these

[ýÇ»[ýÇ»×S QöOPöç [ýç¹YÝ\ö¾X a %ç»Ó b QöO\öãÌ̂ A$RôOçC Xc÷Ì̂
[ýÇV[ýÇV c÷+Ì̂ ç =Pöç [ýç¹YÝ\ö[ýX a A[ýe b =\öãÌ̂ AEõ×OôC Xç
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82. The particle which determines the nuclear charge of an atom is .........
Y»]çSÇ A$RôOç» Yç»]çS×¾Eõ %çWýçX ..................... EõSçc÷O ×XSïÌ^ Eõã»*
YÌ[ý]çSÇ AEõ×OôÌ[ý YçÌ[ý]çX×[ýEõ %çWýçÌ[ý ........................ EõSç ×XSïÌ̂  EõãÌ[ý*
a) electron b) neutron c) proton d) none of the above

c÷Oã_k˜ôX ×XQöO®ÏôX YÒ$RôOX A$RôOçC Xc÷Ì̂
+ã_k̃ôX ×X=®ÏôX æYÒçOôX AEõ×OôC Xç

83. Identify the organism that is neither Eukaryote nor prokaryote.
Tö_» åEõçXä$RôOç LÝ¾ aeãEõçbãEõ³VÐÝÌ^ XTÇö[ýç YÒãEõçbãEõ³VÐÝÌ^ Xc÷Ì^  :
XÝäJôÌ[ý åEõçX×Oô LÝ[ý aeãEõçbãEõ³VÐ»ÝÌ̂  XTÇö[ýç YÒãEõçbãEõ³VÐÝÌ̂  XÌ̂  :
a) Yeast b) TMV c) Euglena d) Nostoc

c÷Orô ×$RôO A] \öçc÷O»ç$K÷ c÷OQöOäGÀXç XrôEõ
+åÌ̂ rô ×Oô A] \öç+Ì[ýça +=æGÀXç XrôEõ

84. The vaccine administered orally is for ...
YÒ×TöãbçWýEõ ×Eõc÷» Eõç»ãS FÇCÌ̂ ç c÷Ì̂  ?
åÌ[ýçG YÒ×TöãbWýEõ [ýÝL FçCÌ̂ çãXç c÷Ì̂  ×EõãaÌ[ý LXî ?
a) BCG b) Measles c) Small pox d) Polio

×[ý×$Jô×L ]çLÇ%çc÷O a»Ó%çc÷O Y×_%’
×[ý×a×L c÷ç] [ýaÜ™ö Y×_C

85. Rotation of crops utilises the following principle :
`aîç¾TöÛX» ålùyTö Tö_» åEõçXä$RôOç XÝ×Tö YÒãÌ^çG Eõ»ç c÷Ì^ :
`aîç[ýTöÛãXÌ[ý ålùäy XÝäJôÌ[ý åEõçX XÝ×Tö YÒãÌ̂ çG EõÌ[ýç c÷+Ì̂ ç UçãEõ :
a) Variation in the mineral content of the soil b) Diversity of plant habits

]ç×$RôO» F×XL VÐ¾î» Töç»Tö]î Eõ»S QöO×àöV YÒLç×Tö» ×\ö~Töç
]ç×OôÌ[ý F×XL VÐã[ýîÌ[ý TöçÌ[ýTöå]îÌ[ý EõçÌ[ýS =×àöV YÒLç×TöÌ[ý ×\ö~Töç

c) Fixation of atmospheric nitrogen in the soil d) Convenience of the farmers.
]ç×$RôOTö [ýçÌ̂ Ç]‰ø_ÝÌ̂  Xçc÷O®ÏôãLX aeã^çLX EÊõbEõ» aÇ×[ýWýç %XÇ^çÌ^Ý
]ç×OôãTö [ýçÌ̂ Ç]‰ø_ÝÌ̂  Xç+®ÏôãLX aeã^çLX EÊõbãEõÌ[ý aÇ×[ýWýç

86. Magnetic lines of force :
$JÇô=‘öEõÝÌ^ [ý_ã»Fçc÷O :
$JÇô=‘öEõÝÌ^ [ý_ãÌ[ýFç :
a) Intersect at neutral points b) Intersect near the north pole

×X»ãYlù ØšöçXTö ×]×_Tö c÷Ì^ QöOwø» å]»ÓTö ×]×_Tö c÷Ì^
×XÌ[ýãYlù ØšöçãX ×]×_Tö c÷Ì̂ =wøÌ[ý å]Ì[ý»ÓåTö ×]×_Tö c÷Ì̂

c) Intersect near the south pole d) Never intersect
V×lùS å]»ÓTö ×]×_Tö c÷Ì̂ åEõ×TöÌ̂ çC ×]×_Tö Xc÷Ì̂
V×lùS å]Ì[ý»ÓãTö ×]×_Tö c÷Ì̂ EõFXC ×]×_Tö c÷Ì̂  Xç
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87. A red rose with a green leaf is seen through a yellow filter. How will the rose and the leaf appear to be ?
åaQöOLÝÌ^ç YçãTöã» éaãTö åGç_çYZÇõ_ AYçc÷ c÷ç_WýÝÌ^ç ×ZõDRôOç»» ]çãLã» $Jôçã_ ZÇõ_Yçc÷ %ç»Ó YçTö» »e c÷[ý :
a[ýÇL YçTöçÌ[ý a×c÷Tö _ç_ åGç_çY AEõ×Oô c÷_ÇV ×ZõDRôOçãÌ[ýÌ[ý ]Wýî ×VÌ̂ ç åV×Fã_, åGç_çY A[ýe YçTöçÌ[ý Ì[ýe c÷+ã[ý :
a) red, black b) red, green c) yellow, yellow d) black, black

»Iøç, Eõ_ç »Iøç, åaQöOLÝÌ̂ ç c÷ç_WýÝÌ̂ ç, c÷ç_WýÝÌ̂ ç Eõ’_ç, Eõ’_ç
_ç_, Eõç_ç _ç_, a[ýÇL c÷_ÇV, c÷_ÇV Eõç_ç, Eõç_ç

88. Which of the following is a neutralisation reaction ?
Tö_» åEõçXä$RôOç YÒ̀ ]X ×[ý×yÔÌ̂ ç :
XÝäJôÌ[ý åEõçX×Oô YÒ̀ ]X ×[ý×yÔÌ̂ ç :
a) CuO + H2      2 Cu + H2O b) NaOH + HCl    2  NaCl + H2O

c) 2NH3 + 3Cl2      2 N2 + 6HCl d) 2H2S + SO2     2  2H2O + 3S

89. Viruses can be assumed to be living because :
\öçc÷O»ç$K÷Eõ LÝ¾ ×c÷$JôçãY ×$Jô×c÷ÔTö Eõ×»[ý Yç×» Eõç»S :
\öç+Ì[ýçaãEõ LÝ[ý ×c÷açã[ý ×Jô×c÷ÔTö Eõ×Ì[ýãTö Yç×Ì[ý EõçÌ[ýS :
a) They can be crystallised b) They have no metabolism of their own

c÷Ocg÷÷TöEõ Øö·õ×$RôOEõê_ »ÖYçÜ™ö» Eõ×»[ý Yç×» c÷Ocg÷Tö» ×XL» ×[ýYçEõÝÌ^ Eõç^ïî Xc÷Ì^
+c÷çãVÌ[ýãEõ Øö·õ×$RôOåEõ Ì[ý»ÖYçÜ™ö×Ì[ýTö Eõ×Ì[ýåT Yç×Ì[ý +c÷çãVÌ[ý ×XãLÌ[ý ×[ýYçEõÝÌ̂  Eõç ï̂ åX+

c) They replicate d) They have no cellular structure
c÷Ocg÷ãTö [ýe` [ýÊ×ˆù Eõã» c÷Ocg÷Tö» åEõçb» aeGPöX Xçc÷O
+c÷çÌ[ýç [ýe` [ýÊ×ˆù EõãÌ[ý +c÷çãVÌ[ý åEõçãbÌ[ý aeGPöX Xç+

90. The intensity of light entering our eye is controlled by :
%ç]ç» $JôEÇõTö YÒã¾` Eõ»ç åYçc÷»» YÒç¾_î .................. ×XÌ^Ü—öS Eõã»*
%ç]çãVÌ[ý æJôçãF YÒã[ý` EõÌ[ýç %çã_çÌ[ý YÒç[ý_î ................ ×XÌ̂ Ü—öX EõãÌ[ý*
a) iris b) pupil c) cornea d) ciliary muscles

%çc÷O×»$K÷ ×YQöO×Y_ Eõ×SïÌ̂ ç ×$K÷×_Ì̂ ç»Ý åY`Ý
%ç+×Ì[ýa ×Y=×Y_ Eõ×SïÌ̂ ç ×$K÷×_Ì̂ çÌ[ýÝ åY`Ý

91. Two parallel rays of light A and B as shown in the figure pass through two boxes. The possible combination of
devices to be used in boxes
A %ç»Ó B VÇQöç_ a]çÜ™ö»ç_ »×`½ ×$JôyTö åVFÇC¾ç» Vã» VÇ$RôOç [ýçEõ$Jô» ]çãLã» Yç» éc÷ éGä$K÷* [ýçEõ$Jô VÇ$RôOçTö [ýî¾c÷ç» Eõ×»[ý Y»ç aÞö¾ Y»
agLÇ×_å^ç» c÷’_
A A[ýe B VÇ+×Oô a]çÜ™öÌ[ýç_ »Ì[ý×`½ K÷×[ýãTö åVFçãXç %XÇ̂ çÌ̂ Ý VÇ+×Oô [ýçãjÌ[ý ]Wýî×VÌ̂ ç YçÌ[ý c÷+Ì̂ ç ×GÌ̂ çäK÷* [ýçj VÇ+×OôåTö [ýî[ýc÷çÌ[ý Eõ×Ì[ýãTö YçÌ[ýç aÞö[ý YÌ[ý ̂ Ü—ö c÷_

A

B C

I II

a) convex lens and concave lens b) concave lens and convex lens
%¾Tö_ å_³a %ç»Ó QöOwø_ å_³a QöOwø_ å_³a %ç»Ó %¾Tö_ å_³a
%[ýTö_ å_³a A[ýe =wø_ å_³a =wøÌ[ý å_³a A[ýöe %[ýTö_ å_³a

c) concave mirror and convex mirror d) None of the above.
QöOwø_ VçãYçX %ç»Ó %¾Tö_ VçãYçX CY»» A$RôOçC Xc÷Ì̂
=wø_ VYïX A[ýe %[ýTö_ VYïX AEõ×OôC Xç*
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92. Which of the following make heamoglobin of blood incapable of carring oxygen to other parts of the body ?
Tö_» åEõçXä$RôOçã¾ åVc÷» ×[ý×\ö~ %e`ê_ %×jãLX Eõ×$RÍôÌ^çc÷O ×XÌ^çTö ×c÷]’GÀ×[ýXEõ %a]Uï Eõ×» åTöçã_ ?
XÝäJôÌ[ý åEõçX×Oô ̀ Ì[ýÝãÌ[ý ×[ý×\ö~ %eã` %×jãLX [ýc÷X Eõ×Ì[ýãTö ×c÷ã]çäGÀç×[ýXãEõ %a]Uï Eõ×Ì[ýÌ̂ ç åTöçã_ ?
a) chlorine b) nitrogen c) carbon monoxide d) sulphur dioxide.

zõ×»S Xçc÷O®ÏôãLX Eõç[ýïX ]X’%jçc÷OQö $K÷ç_Zõç» Qöçc÷O%jçc÷OQö
zõ×Ì[ýS Xç+®ÏôãLX Eõç[ýïX ]X%jç+Qö aç_ZõçÌ[ý

93. Which of the following attack the lungs ?
Tö_» åEõçXä$RôOçã¾ c÷çCgZõçCgEõ %çHçTö Eõã» ?
XÝäJôÌ[ý åEõçX×Oô ZÇõaZÇõaãEõ %çHçTö EõãÌ[ý ?
a) Vibrio cholerae b) Mycobacterium tuberculosis

\öçc÷O×[ýÐ% Eõã_×» ]çc÷OEõ’ã[ýEõä$RôOç×»Ì̂ ç] ×$RôOQöO[ýç»EÇõ_×$K÷$K÷
\öç+×[ýÐ% Eõã_×Ì[ý ]ç+Eõ å[ýEõãÌ[ýåOôç×Ì[ýÌ̂ ç] ×Oô=[ýçÌ[ýEÇõ_×aa

c) Salmonella typhi d) Varicella zoster
$K÷ç_]ãX_Ý $RôOçc÷O×Zõe å\ö×»ä$K÷_Ý L’$K÷$RôOç»
aç_]ãX_Ý Oôç+×Zõe å\ö×Ì[ýåa_Ý LaOôçÌ[ý

94. To ring an electric buzzer we need ..
é[ýVÇî×TöEõ [ýçLç» [ýLç[ýê_ ................ [ýî¾c÷ç» Eõ»ç c÷Ì̂ *
+ã_Eõ®Ïô×XEõ [ýçLçÌ[ý å]×`X [ýçLç+ãTö c÷+ã_ .................[ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂ *
a) A.C b) D.C c) a and b d) None of these

A×$Jô YÒ[ýçc÷ ×Qö.×$Jô. YÒ[ýçc÷ a %ç»Ó b CY»» A$RôOçC Xc÷Ì̂
A×a YÒ[ýçc÷ ×Qö.×a. YÒ[ýçc÷ a A[ýe b AEõOôçC XÌ̂

95. .................... is an example of unicellular organism
AEõãEõçbÝ LÝ¾» QöOVçc÷»S :
AEõãEõçbÝ LÝã[ýÌ[ý =Vçc÷Ì[ýS :
a) Giardia b) Chara d) Salvia c) None of the above

×LÌ̂ ç»×VÌ̂ ç Eõç»ç $K÷ç_×\öÌ̂ ç CY»» A$RôOçC Xc÷Ì̂
×LÌ̂ çÌ[ý×VÌ̂ ç EõçÌ[ýç aç_×\öÌ̂ ç AEõ×OôC Xç

96. Plasmids are present in ........................
................ Tö YÀçL×]Qö %çä$K÷*
...................... A YÀça×]Qöa %çäK÷*
a) virus b) diatom c) bacteria d) None of these

\öçc÷O»ç$K÷ QöçåÌ^$RôO] å[ýEõä$RôO×»Ì^ç A$RôOçC Xc÷Ì^
\öç+Ì[ýça QöçãÌ̂ Oô] å[ýãkô×Ì[ýÌ̂ ç AEõ×OôC Xç

97. ................... is a symbiotic association in between specific group of fungi and specific higher plants.
×Eõ$KÇ÷]çX G$K÷» ×`Yç» _GTö ×Eõ$KÇ÷]çX å\göEÇõ»» ×^ ac÷LÝ×¾Töç G×$RÍô QöOäPö TöçEõ ................ å[ýçã_*
EõãÌ̂ Eõ×Oô ×X×VÛrô GçäK÷Ì[ý ]Éã_Ì[ý a×c÷Tö EõãÌ̂ Eõ×Oô ×X×VÛrô K÷yçãEõÌ[ý å^ ac÷LÝ×[ýTöç G×QÍöÌ̂ ç =æPö Töçc÷çãEõ ............. [ýã_*
a) lichen b) algae c) mychorhyza d) all of these

_çc÷OãEõX å`_çc÷O ]çc÷OEõ’»çc÷OLç %ç$RôOçc÷OãEõc÷O$RôOç
_ç+ãEõX å`_ç+ ]ç+Eõ’Ì[ýç+Lç a[ýEõÌ̂ Oôç
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98. Aqua regia is a mixture of one volume of concentrated .................. and three volume of concentrated .............
%=Úö»çL éc÷ä$K÷ A\öçG Gç$RÍô ...................... %ç»Ó ×Tö×X \öçG Gç$RÍô ...................» ×]`ÒS*
%=ÚöÌ[ýçL c÷_ AEõ\öçG GçRÍô ................... A[ýe ×TöX\öçG ................. AÌ[ý ×] Ò̀S*
a) Nitric acid, sulphuric acid b) Hydrochloric acid, nitric acid

Xçc÷O×®ÏôEõ A×$JôQö, $K÷ç_×ZõQöO×»Eõ A×$JôQö c÷çc÷OQÎö’zõ×»Eõ A×$JôQö, Xçc÷O×®ÏôEõ A×$JôQö
Xç+×®ÏôEõ A×aQö, aç_×Zõ=×Ì[ýEõ A×aQö c÷ç+QÎö’zõ×Ì[ýEõ A×aQö, Xç+×®ÏôEõ A×aQö

c) Nitric acid, Hydrochloric acid d) None of these
Xçc÷O×®ÏôEõ A×$JôQö, c÷çc÷OQÎ’zõ×»Eõ A×$JôQö A$RôOçC Xc÷Ì^
Xç+×®ÏôEõ A×aQö, c÷ç+QÎö’zõ×Ì[ýEõ A×aQö AEõ×OôC Xç

99. Radio active isotopes of ................. is used in the treatment of cancer
.............. » åTöL×›˜õÌ^ a]Øšöç×XEõEõ EõEïõ$RôO å»çG» ×$Jô×Eõdaç» [ýçã[ý [ýî¾c÷ç» Eõ»ç c÷Ì^*
..................... AÌ[ý åTöL×›˜õÌ̂  a]Øšöç×XEõãEõ EõEïõOô åÌ[ýçãGÌ[ý ×Jô×EõdaçÌ[ý LXî [ýî[ýc÷çÌ[ý EõÌ[ýç c÷+Ì̂ ç UçãEõ
a) Uranium b) Copper c) Cobalt d) All of these

c÷OQöOã»×XÌ̂ ç] EõYç» Eõ[ýçDRôO %ç$RôOçc÷OãEõc÷O$RôOç
+=åÌ[ý×XÌ̂ ç] EõYçÌ[ý Eõ[ýçDRôO a[ýEõÌ̂ Oôç

100.German silver is an alloy of ............. , ................... and ................. .
Lç]ïçX ×$Jô_\öç» ....................., .................... %ç»Ó ................. aeEõ» WýçTÇ*ö
åÌ[ýìYî......................, A[ýe ....................... AÌ[ý aeEõÌ[ý WýçTÇö*
a) Cu, Zn and Ni b) Cu, Pb and Sn

c) Cu, Sn and Zn d) Cu, Fe and C

**************
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